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1 Introduction
At RAN3 #83, RAN3 analysed the meaning of the eNB2 Proposed Mobility Parameters IE used in the MOBILITY CHANGE REQUEST message [1]. As the conclusion, a following statement was recorded in the meeting report [2]:
When eNB1 asks “delta +1” to eNB2 (in eNB2 Proposed Mobility Parameters IE), it means eNB2 should extend the handover border from eNB2 to eNB1 by +1 (i.e. eNB2 should execute HOs later);

When eNB1 changes its own delta +1 (informed in eNB1 Mobility Parameters IE), it means eNB1 will extend the handover border from eNB1 to eNB2 by +1 (i.e. eNB1 executes HOs later), if the MSC procedure completes successfully.
This makes the usage of the request information clear. However, a similar clarification may be needed in case of MOBILITY CHANGE FAILURE. This message may include eNB2 Mobility Parameters Modification Range IE, which tells what the allowed range for the mobility setting change is. This IE, similarly as it was in case of the request, may be interpreted from both ends of the X2 connection. It is therefore good to clarify what sign should be used assumed purpose.
2 Discussion

The eNB2 Mobility Parameters Modification Range IE may be included in the MOBILITY CHANGE FAILURE to indicate to the peer eNB that has initiated the Mobility Setting Change (MSC) procedure what range of change may be acceptable. For example:
An eNB 1 requests its neighbor (eNB 2) to execute HOs later, i.e., it sends MOBILITY CHANGE REQUEST with eNB2 proposed parameters set to +3 dB (IE value: +6). However, eNB 2 is not able to shift the border so much, while it could extend by +2 dB. Therefore it fails the request and includes the eNB2 Mobility Parameters Modification Range IE. The question is: how exactly shall it indicate that the eNB 1 may request cell shift toward eNB 1 by +2 dB? We assume the eNB 2 does not analyse adverse modification, i.e. how much it could theoretically shrink – the request is about extending eNB 2 coverage. Possible options are:
1) Handover Trigger Change Upper Limit IE shall be set to +4, i.e. +2 dB (because it is a hint to eNB 1 what request it may issue); Handover Trigger Change Lower Limit IE is set to 0; or

2) Handover Trigger Change Upper Limit IE shall be set to -4, i.e. -2 dB (because it is a hint that eNB 1 may execute HOs 2 dB sooner); Handover Trigger Change Lower Limit IE is set to 0; or

3) Handover Trigger Change Lower Limit IE shall be set to -4, i.e. -2 dB (because it is a hint that eNB 1 may execute HOs 2 dB sooner, and -4 is lower value); Handover Trigger Change Upper Limit IE is set to 0.

Our interpretations would be option 1. The reason is that this IE is used as a response to a requested change, not a request itself. Therefore, it is rather a suggestion to eNB 1 how it should set the requested value, not a suggestion how it should modify own settings. However, since it is not clear in the X2AP speciafication, we propose to confirm this understanding with a declaration in the meeting report, similar to the one made at RAN3 #83:
When eNB2 fails a request to execute HOs later and indicates to eNB1 that eNB2 may extend its border by max +1 dB, it sets the Handover Trigger Change Upper Limit IE to +2;

When eNB2 fails a request to execute HOs sooner and indicates to eNB1 that eNB2 may shrink its border by max +1 dB, it sets the Handover Trigger Change Lower Limit IE to -2;
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